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Use substitution and the Fundamental Theorem of Calculus to evaluate the following inte-

grals.
W= Tz, du=Thdt = Zrdu = dt
w(o) =0, al)=T72

1. /01 cos(mt/2) dt
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2 SUBSTITUTION

5 /OTF/6 sin(t) dt U= @SC-&) Au: -Si/\(‘é)d{f =5 ‘c(u: §J'n(-£;)cl‘é
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RRT N i O%
- :futxzdm

- 3)]

= ~,3I (0'3/2 ,93/2)
= 5 [o—(ﬁ)g)

= ~’L(‘33):—§?;731:E

3



SUBSTITUTION

/2
5. /0 cos(z) sin(sin(z)) dz W= 5}/\(&)} Clq: Cos()()qéu
w(0)=0, w(%)=|

T:Tcos.(sc) sM[sM(&))A)C = Jfg,-,‘(a)d»,
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- (cosm — (o5(s))
- (COSCI]' 1)

= ‘ |- cos(i) )

6. /ﬂ/3 gtsin(z)dz = O loe,c;u»& XL/S)'/I()() S Uoui
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{(x) = xTsinly)
é(—x) i [’X) 75)%(’)() = K%ési/\&)) = ’)(L/S’IA[X) = '%(X)



